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1. RXOAXZERTX. (SHhk558, Ak15530%, Bik2530%, C#kdsy)

1) 2 -1)? (2)  3(z+3)?
3 —(+y(z—y) (4)  10(a — 2b)(a + 2b)
(5) 5 —4)(z+2) (6)  —2(a—3b)(a+b)

(7) (x+2)(x—2) (8) (z — 3y)(z — 5y)
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2. ROAZEFE L. (S5, Af1930%, B#k2o30%, C#kdsm)

(1) 3(z+1)? (2)  5(z —3)?

3)  —(z+4)(z—4) (4)  10(2a — b)(2a + b)
(5)  4(x —3)(x +6) 6)  —2(a—5b)(a+D)
(7) %(m +6)(z —6) g L= 3y)6(x — 4y)
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1.

R#HTFAN XFHX EBEAR B 01 BEESR

1) 2(x—1)?
=2(2? - 21 +1)
=2x% —4x + 2

3) —(z+y(z—y)
=—(@* -y
— _w2 + y2

(5) 5z —4)(z+2)

= 5(2? — 21 — 8)

=522 — 10z — 40

ROR%EHE L. (SHk55F, Afk1530%, B#2530%, Cihim)

(2)  3(z+3)?

= 3(2% + 62 +9)

=322 4+ 18z + 27

(4)  10(a — 2b)(a + 2b)

= 10(a® — 4b2)

= 10a? — 40b?

(6)  —2(a—3b)(a+b)

= —2(a® — 2ab — 3b?)

= —2a? 4 4ab + 6b2

(z —3y)(z — 5y)
(8) :

z? — 8zy + 15y>
5

1 5 8 9
—x° — —=x 3
5 5 Yy + 3y
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2.

(1) 3(z+1)?

=3(z? +2r+1)

=322+ 6x+ 3

(3) —(x+4)(z—4)

= —(2% - 16)

=—22+16

(5)  4(z —3)(x +6)

= 4(z% + 3z — 18)

=4x? 4+ 12 — 72

%(wQ — 36)
T
2

ROXZEHEE L. (S5, AR1530%, BHF2530%, C#Hasy)

(2)  5(z —3)?

=5(z% - 62 +9)

= 5z2 — 30z + 45

(4)  10(2a — b)(2a + b)

= 10(4a? — b?)

= 40a? — 10b?

6)  —2(a—5b)(a+D)

= —2(a? — 4ab — 5b°)

= —2a? + 8ab + 10b2

(z —3y)(z — 4y)
(8) 5

2% —Tay 4+ 1292

6
= —g2 - = 2
6~ Gmy+y
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